wkingart.

Floor Easel Parts List Assembly Instructions Assembly Diagram
1 Wood Tray (1) STEP 1
2 Wood Tray Back (1) Attach Igg bumpers to_bottom of legs tapping
3 Wood Lower Legs (3) lightly with a hammer if needed.
4 Wood Upper Legs (2) STEP 2
5 Wood Upper Middle Lag (1) Attached upper legs and lower legs together
using the 13/4” leg bolts, washers and wing nuts.
A Top Bolt 21/2" x 3/16” (1) STEP 3
B Tray Bolt 3 1/2” x 3/16” (1) Position all 3 legs at the top placing middle leg in .
C Wing Nuts 3/16” (5) center and secure with 2 1/2” bolt, washer and
D LegBolts 13/4” x 3/16” (3) wing nut. ‘
E Washers. (5) STEP 4 s
F Leg Chain (1) Attach wood tray, tray back and chain with
G Cup Hook (1) 3 1/2” bolt, washer and wing nut.
H Leg Bumpers (3)
STEP 5
Secure cup hook to the back leg and attach chain
to cup hook. 3
© 2018 MCC BRANDS, LLC
PO Box 495 NOTE )
30030;urchase Street Holes for bolts are drilled to close specifications )
Purchase, NY 10577-9998 for stability. Use a screwdriver to tighten bolts H
All rights reserved through pre-drilled holes.
Designed in New York
Made in China Check hardware for tightness to assure
www.kingartco.com a sturdy product. )

00000

(G-



